Radicals and rational exponents test
True/False
Indicate whether the statement is true or false.

1. The radical %/ 45° can be written in rational form as 45°'°.

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Simplify the radical expression. Use absolute value symbols if needed.

a. 36g3 b. 3624 C. 6g° d. 6z
3. 4/81x20y8
a. 3x5y2 b. 9x23p4 C. 9x23y d. 3x5y2
4. 4/625x23yn
a. SxTy2 b. 3x5y C. 25x25yd4 d. 258y
Multiply and simplify if possible.
5. «J6 - A2
a. 2./3 b. .12 C. 3.2 d. not possible
6. /3 -4/3
a. -3 b. 3 C. 34/ 3 d. not possible
7. Simplify %/128413b6 . Assume that all variables are positive.
. 4gap2i 24 C. dqabifa
b. 2,4523 44 d. none of these
8. Simplify /324166 . Assume that all variables are positive.
A 2¢5h23 4q C. 2a5b3«/{E
b. 445523 24 d. none of these
Divide and simplify. Assume that all variables are positive.
9 12700
— ifm
& 273t b 3x6%/2x . 2/135x19 d. 3x6./135x
~f 9018
10, ——
wf 2x
3x8 ./ 5x C. 3x.f3x2

b. . 1817 d. none of these



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Add if possible.
242 + 6%/
a. ghfax

b. 16%/2x
43[3x + 53 10x

a. oif13x
b. 273 /3x

Subtract if possible.

24/50 — 6%/54

a. 0%/ 54
b. g%/54

24f6a — 4% /64
a. g4/6a
b. _12%4f6s

Solve the equation.

Nx+10 -7 = -5

a. 14 b. -8

3~fx—-2-3=268

a. 83 b. 11

~Jx-9+3=8§

a. 25 b. 14
2

(x—-7)3 =4

a. 11 b. 15;-1
2

(x+6)3 =4

a. -2 b. 14;-14

Solve. Check for extraneous solutions.

6x = /24 + 12x

a.

2
3

8%/ 2x

not possible to simplify

274 10x

not possible to simplify

44 /54

not possible to simplify

4
—2+{6a
not possible to simplify

4 d
27 d.
34 d.
-3 d
10 d.
1 and-—g d

64

16



